CUET Mathematics Solved Paper-2022

Assume P, O, R and S are matrices of order
2xm, kxnmx2and2x3 respectively. The restrictions
on k, m and n, so that PQ + RS is defined are

(@ m=3,n=2 (b) m=n, kisarbitrary

(c) m=k, nisarbitrary d m=k=2,n=3

The system of equations 3x +4y =35, 6x+Ty=-8is written in
matrix fromas

@ E ﬂ[x =I5 81
o [
o (I35

3.6
@ [x y]{“}{s =

-1 3.4
It 2 i +3 1’ =3 , then the value of
bic ) {2 4 6

|a+b—c—‘di is

@ 3 0 %n @ 6 (@6

1

Consider the function f (x) =x* . Its

1

(2) minimum valueis e®
1

(b) maximum valueis e¢
() minimum valueise®

1 e
(d) maximum valueis (;)

The given function f{x) = x* - 5x* + 5x*—1; has/have
(a) Local maximaatx=1 :

(b) Local maximum value is0

(¢) Local minimumatx=3

(d) Local minimum value is— 28

(¢) Thepoint of inflexion isx=1

Choose the correct answer from the options given below
(@ (a),(b)only

(®) (a),(b), (c)only

© (a),(b), (c),(d)only

@ (), (c), (e)only

Match List-I with List-II
List-I List-IT
(A) Ifx=randy=7 O 2

dzy
then Ex—z atz=1

11.
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® If®)=x +1, @ -1
the /(1)
(C) Theminimum value (iii) %

of f(x)=9x2+12x +21s

1
(D) The point ofinflexion  (iv) et
of the function f{x) = (x-2)*
(x+1)%is

Choose the correct answer from the options given below
@ (A)-G),®)- (i, (O)- i), ) ()

b) (A)-(ii), @) - i), (©)- (@), () - (¥)

© (A)-(iii), B)-v), (O - (), (D)- (i)

@ (A)-(iv),B)- (), (O)- (i), D) - (ii)

The area enclosed by the curve y* = 4ax and its latus -
rectum is

ey 4
@ 3 ®) 34

2

o e
© 3¢ @5

J'_’ix74x=

(x+1)

@ x+l+c ®) x—l+c

(C) —J—C—+C (d) ——ZC—+C
x+1 x—1

+
The solution of the differential equation
dy
x+1)—=1+y i
( ) P Y. 18

1+y+y2
2

@) =C

1+x

() log(x+1)~log [J"*‘;‘) =C

x+1
Alla- 800
© y+1

(d) log(1 +y)—~\{2§ log (ki) =C

Order and degree of the differential equation
dy 4
y——+——=35 are

dx &

dx
(@ 1,2respectively (b) 1,1 respectively
(¢) 1,0respectively (d) 2, 1 respectively
Derivative of x* + 1 with respect to x> + 1 is

®i o3 07

2x

@ 7
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12. Solution of the differential equation (x + xy)
dy -y (1-x) dx=01s

13.

14.

15.

16.

17.

2
X

, xZ xz
(c) y=logxy ~—2-+C (d) y=10gxy+—2-—+C

Two numbers are selected
replacement) from the first three positive integers.

X X
—log ———= 1€ —log = +—+C
kp) v = log g @7 S ET

at random (without

Let X de-

notes the larger of the two integers, then the probability dis-

tribution of X is
x 2 3 j
@ [p(x=x] U3 273 (1)
T L
® px=x)| 1/2 iy |
M 3
© Tpx=x] 13 173
X, 2 34]
@ px=x| 1/5 475 |

The probability distri
doublets in three throw

bution of number
s of a pair of dice is

? W
15/216 | 1/216

@ x \ 0 1
P(x =1x) |125/216 75/216
x 0

1

P
® %X:x)% 75/216 \] 125/216 l\ 1/216\] ﬁzﬁ

el |

[ 2 4 2 3
(© [plx=x)|1/216]75/216 |15/216 | 125/216

x 0 1 [

@) [p(x=x)[1/216

2 3
15/216 \ 75/216 | 125/216

In linear programming,
function is attained at th
(a) intersection of the 1

x-axis only

(b) intersection of the inequal

e points given by
nequalities with the

ities with the axes only

(c) corner points of the feasible region

(d) intersection of th

y-axis only

of

the optimal value of the objective

¢ inequalities with the

If R is a relation on Z (set of all integers)
defined by xRy, iff[x—y| < 1,then
(1) Risreflexive (2) R is symmetric

(3) Ris transitive (4) R is not symmetric
(5) Risnot transitive
appropriate answer from the options

Choose the most
given below

(@ ()and(4) only (b)(1), (2) and (3) only

(© (2)and(3)only(d)(
Ifthe vertices of a triangle

C(2,3, 1), then the equation ofthe median passing through

the vertex A, is

(x—l y-2

@ e

2 1

_f ]
2

1),(2)and (5)only -
ABCare A(1,2,1),B(4,2,3)and

18.

19.

20.

21

24.

26.

B 2=

© x—1=2y—4=2-1

el
@ e =2y—4=z-1

A line makes the angle 0 with each of the x and z axes. If
the angle B which it makes with y-axis is such that
sin?p = 3 sin?0, then the value of cos?0 is

2 1 3 3
@ 3 ® 3 © 3 @ 3

7y
Ifx=2 sind and y = 2cos, then the value of jd;i_} at0=0

is

1
(@) . o) i © 0 @ I
If x= ey+ey*‘y S , x>0, then —‘% is equal to
s I-x oolex
W =0 O 5 @7

b
sin! (1 —x)—2sin'x = 3 then x is equal to

1

Wwo Bl © Fpd 2

Choose the most appropriate answer from the options given
below:

(a) (a)and(b)only (b) (a)and (c) only

(©) (a)only (d) (c) only

The smaller of the areas enclosed by the circle
x*+y*=4and thelinex+y=21is

@ 2m-2) ) n-2

(c) 2n—-1 @ 22

4sinx -1
I£ 0 < x < 7 and the matrix 3 : is
— sin x

singular, then the values of x are:

m 2n n S
® 5 ®), il
Tn n 2n
0.5 (@) gy
pua
3 X ;
a3 B4 © 6 @ o

The function f(x)= " is

(A) continuous everywhere on R

(B) not continuous at x = 0

(O) Differentiable everywhere on R

(D) not differentiable at x= 0

(E) continuous and differentiable on R

Choose the most appropriate answer from the options given
below:

(@ (B)only (®) (B)and(C)only

(¢) (A)and(D) only (d) (B)and (D) only
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26.

27.

28.

29,

30.

31.

32.

38s

Which of the following is true on the basis of above
diagram?

(@) ¢f isafunction from4 — B

(b) ‘f’isone-one function from4 — B

() f’isontofunction from4 — B

(d) ¢f’isnotafunctionfrom4 — B

If the points (2, —-3), (A, —1) and (0, 4) are
collinear, then the value of A is

3

7 10
@ 70 ® 7

18 0 =20
(© 3 @ -
(=5
The value of sin {2 cot l[ﬁﬂ is:

120
@ Teo ®

~120
P

60 6
40 169

169

2

. ; Y,
Let y = m sin rx + n cos rx. What is the value of & ?

(@)reigronp(b)i wyens i) Ry () iy

; d
The integrating factor of the differential equation cos X i

dx
ysinx=11is
(a): ysec.x (b) cos x
(c) secx+tanx (d) tanx

The order and degree of the differential equation

1 1
d*y 3 (a?y)Z
i § Sl
delJ } ax)

(a) order=2, degree=2 (b) order=2,degree=4
(c) order=2,degree=8 (d) order=1,degree=1

_[\/1—49):2 dx is equal to
@ g(\/l—49x2)+—91§sm*7x+c

() i 1+49x2+isin“1x+C
2 49

X '} I 31
(© % f1+-7—x7—Esm 1x+C
) -’25\/1 —49x° +1i4sin“ 7x+C

The shortest distances of the point (1, 2, 3) fromx, y, z axes

respectively are
V5,413,410

@ L23  ®
© V10,413,485 @ 13,410,45

34.

38,

36.

37.

39,

Distance between two planes x+2y —z=5 and 2x + 4y —2z
+#2=0is

(@ /6 unit (b)  7unit
9 4
(©) ‘\/‘g unit (d) ﬁ unit

If g=a,i+a,]+ak and b =hi+b,]+b,k arctwonon
zero vectors inclined at an angle 6, then identify the cor-
rect option out of the given options

ab
(A) cos 0= ‘”Hl;l

a

(B) a and b are perpendicular, if ab +ab,+ab =0
o i G G
(©) a and b are perpendicular, 3 1 5 o
Y5 G
D) for §=mn,axb=0
axh

(E) €08 0= ==
i

Choose the most appropriate answer from the options
given below

@ (A),(B)and(D)only

(®) (A),(B)and (E)only

(¢) (B),(D)and (E)only

(d) (A)and(B)only

If ;=?+}_21} and §=2i+j—k, then the area of

parallelogram having diagonals (; + (}) and (; -q ) is’

(@ 4411 sq.unit  (b) /44 sq. unit
(©) 11 sq. unit (d)  3+/11 9. unit

If a,b and ¢ arethreeunit vectorssuch that g+ 54 ¢ = 0 then
thevalueof a-b+b-c+c-a is

®3 ® -2 © 5, @3

The corner points of the feasible region for an L. P.P. are (0,
10), (5, 5), (15, 15) and (0, 20). Ifthe objective function is z

= px + qy; p, ¢ > 0, then the condition on p and g so that
the maximum of zoccurs at (15, 15) and (0, 20) is

@ p=¢q ®) p=2q
© g=3p (Drww g512p
Ixm is equal to:

3

@) —?—(x+2)5—-;1(x+2)2+c

®) SRR AC
s 3

© %(x+2)5+%(x+2)5+0

3

(d %V(H 2)? +%(x+ 22 +C
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40.

41.

42.

43.

44.

45.

Three urns contain 6 red, 4 black; 4 red, 6 black and Sred,
5 black marbles respectively. One of the urns is selected at
random and a marble is drawn from it. If the marble drawn
is red, then the probability that it is drawn from the first
urn is 5

& 5.0
T 0B Tob - s 0+ LDl
Three persons 4, B and C were given a task, whose prob-

L) 1

abilities of completion their task on time are -7 » and 3

respectively. They were asked to complete the task on time
independently. The probability that exactly one of them
complete the task on time is

Bt ke s
Read the text carefully and answer the questions:
Three persons A, B and C were given a task, whose prob-

s 1

abilities of completion their task on time are 3>7 and 3

respectively. They were asked to complete the task on time
independently.

The probability that
complete the task on time is

3 B Mb)@
® % ® 5% O ol
Read the text carefully and answer the questions:
Three persons 4, B and C were givena task, whose prob-

1oL 1
abilities of completion their task on time are 3% and 5

exactly two of them

respectively. They were asked to complete the task on time
independently.
The probability that B alone complete the task on time is:

13 3 2 Z

oL wmg 918 n

Read the text carefully and answer the questions:
Three persons 4, B and C were given a task, whose

| 11
probabilities of completion their task on time are 3>7

1
and r respectively. They were asked to complete the

task on time independently.
The probability that the task is completed on time by
none of them is

3
® 73

2 13
® 3 © 73 @ T3

Read the text carefully and answer the questions:

Three persons 4, B and C were given a task, whose prob-

I 1

abilities of completion their task on time are >7 and 35

respectively. They were asked to complete the task on time
independently.

46.

47.

48.

49.

50.

The probability that task is completed on time by at least
one of them is: .

2 3 3 2
Wt e B
Read the text carefully and answer the questions:
Mohan wants to donate a rectangular plot of land for a
hospital in his village. When he was asked to give dimen-
sions of the plot, he told that ifits length (x)is decreased
by 50 m and breadth (y)is increased by 50 m, then its area
will remain same, but iflength is decreased by 10 m and
breadth is decreased by 20 m, then its area will decrease
by 5300 m*.
The equations in terms of x and y are:
@) x~y=50,2x+y=550
(b) x+y=40,2x-y= 550
() x-y=10, 2x+y=50
@ x—y=30,2x+y=505
Read the text carefully and answer the questions:
Mohan wants to donate a rectangular plot of land for a
hospital in his village. When he was asked to give dimen-
sions of the plot, he told that ifits length (x)1s decreased
by 50 mand breadth (y) is increased by 50 m, then its area
will remain same, but iflength is decreased by 10 m and
breadth is decreased by 20 m, then its area will decrease
by 5300 .
The value x is:
(@ 150m (b)100m (© 200m (d) 300 m
Read the text carefully and answer the questions:
Mohan wants to donate a rectangular plot of land for a
hospital in his village. When he was asked to give dimen-
sions of the plot, he told that if its length (x)is decreased
by 50 m and breadth () is increased by 50 m, then its area
will remain same, but iflength is decreased by 10 m and
breadth is decreased by 20 m, then its area will decrease
by 5300 m*.
The value of y is
@@ 50m (b 100m (c) 240m (d) 150m
Read the text carefully and answer the questions:
Mohan wants to donate a rectangular plot of land for a
hospital in his village. When he was asked to give dimen-
sions of the plot, he told that ifits length (x)is decreased
by 50 mand breadth (y) is increased by 50 m, then its area
will remain same, but iflength is decreased by 10 m and
breadth is decreased by 20 m, then its area will decrease
by 5300 m’.

<+

The value of the expression "x'_‘;‘ is:
(a) 625 (b) 1250 (c) 312.5 (d) 3125
Read the text carefully and answer the questions:
Mohan wants to donate a rectangular plot of land for a
hospital in his village. ‘When he was asked to give dimen-
sions of the plot, he told that ifits length (x)is decreased
by 50 m and breadth (y)is increased by 50 m, then its area
will remain same, butiflength is decreased by 10 m and
breadth is decreased by 20 m, then its area will decrease
by 5300 m?.
The area of rectangular field is:
(a) 30000sq.m (b) 3000sq.m
(c) 300000sq.m (d) 60000sq. m
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4

Hints & Explanations

(@ OrderofP=2xm

Order of Q=kXxn

Order of R=m %2

Order of =2 %3

Now, for PQ + RS to be defined.

PQ and RS is to be defined and PQ and RS should be of

same order.

For PQ to be definedm=+k

= Orderof PO=2xn

For RS to be defined2 =2

= Order of RS=mx3

If order of PQ = Order of RS

= 2Xn=mx3

= m=2,n=3,k=2 .

@ Given the equations
3x+4y=5
6x+7Ty=-8

In matrix form

316

(01 7}[5—8]

(c)Given,?.ad+31_l=335
Lol B 46

_[2a+3 24-3] [9 15
Lo 2esedtil 1218

= 2a+3=9 = a=3
2d-3=15 = d=9
2b=12 = b=6
2c+6=18 = ¢=6

|3+6-9-6|=|-6]|=
() Given the function
1

f(x)=x* =logf(x)= ilogx

L) ot 1
o (“)

1
£ =218 Now, 1) =0
x
= 1l-logx=0 = logx=1

Sox=e
Since, f'(e7)>0andf'(e") <0

So, f(x) has max. ate.

¥}

e
(©  Given, f(x)=x—5x4+5x3 <1
Flo0=5x" 20" + 1522
=5x2(x2—4x+3)=0
=5x2(x-3)(x—1)=0
x=0,3,1
Now, /" (x) = 20x> — 60x%+30x
= 105 (2= 6x+3)

f"®)=0=>x=0 . x=0is point of inflexion.
f"(H<0=>x=1 point of maxima.
f"(B)>0=>x=3 point of minima.

f3)=0BY-503)’*+5@3)-1=-28
fH)=1-5+5-1=0
(¢©) (@ Given,x=£,y=08

® o gy
dt dt

® /@)=Vx+1

e

re=sr
1) =-—5 = =

4x2
© fE)=%%+12x+2

2
flx)=18x+12=0=> X=—‘§

Now, /" (x)=18 and f”(——i—)> 0

2

o 60 = 2] (2

4
=9><§+(—8)+2 Sl Y=
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(d Given,f(x)=G-2*(x+ 1y . Order=1
f’(x)=3(x+1)2(x—2)4+4(x~2)3(x+1)3 Degree =2
f"(x)=6(x+1)(x~2)4+12(x—2)3(x+1)2 11, @ Let f)=x+1

+12(x+1)2(x—2)3+12(x—2)2(x+1)3 g()=x*+1
=(x+l)[6(x—2)4+12(x~2)3(x+1) : 5
12 (et 1) (x=2) + 12— 2P (e + 11=0 f_,("—)=3_"_=3x
— x = 1 is point of inflexion. gty = 2
- (a) = (iii), () > (@), (©) = (i), @)~ (i) 12. (a) The given differential equation
7. (@ Graph of given curves 3 ‘ (c+xy)dy—y (1-x*) dx=0

x(1+y)dy-y(l —x%)dx=0

a
(G (2P
y X

2
logy+y=logx— —2—+C

a a
Area= 2| VAax dx =2.23a [x dx ¥
0

X
Srionll Uy
yele o

4 1 : 13. (a) Sample space

3
; = =i :
2 B :
LibBa) S8 Betbh v
3 3 ; Twonumbers can be selectas (1,2) (2,3) (1, 3)
0 Now,
3
4a2a? 8 x 2 3
= 3 x2=—3—a P (X =x) 1/3 2/3
. ~ where X denotes larger of two integers.
8. @ J.——f—e——?dx = jex 3 +1_21 dx 14. (@ X= getting number of doubles
(x+1) (x+1) , 1
t X P = —_—=—
e[ f@+ fi)de=e f)+C % 6
0lrcnd
x 1) (B 125
Y S AR P(X=0)=3Co[') 5 -5
x+1 (x+1)? {2 6) \6) 216
9 Given differential equati LN Y 78
. (¢) Given differential equation, 5 P(X =1)=3C (g) (g) =
R ... =
x e y S = ! 2 1
dx ivx Iaw P(X=2)=3C2(l) (_5_) 1alde
: : 6) \6 216
21n(1+x)=1n(1+y)+lnC :>1n(—i—x—]=lnc esY 1
L P(X=3)=3C3(— 2 =—
6) \6, 216
_-_—>li)_c. LYo 15. (¢) The optimal values of the objective function is
l+y . attained at the corner points of the feasible region.
10. (a) Given differential equation, 16. (@ Since,xRy,|x—y[<1
: dy 4 For reflexive (¢,a) =>|a—a|= 0= 1.
y.—— A — = 5 S . . .
dx dy . Relation is reflexive,
dx For symmetric (a, b)y=|a—b|<1.
3 ; (b,a)=>|b-al<l.
y(‘_i)_’) +4= 5(@) . Relation is symmetric.
dx dx

For transitive (a, b)) = |a—-b|<1
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17;

18.

19.

20.

21.

(b,c)=>|b—-c|=g1
;{|a—c|sl

Only reflexive and symmetric and not transitive.

@ A(1,2,1)

B(4,2,3) ’) az,s3,1

. D is mid-point of line segment BC.

pa(4222341), (4 5)
2 2 2 2

Equation of median through 4.

-1 -2 2-1 x-1 -2 z-1
Bk P L L BT W
3-1 35 2-1 2 1 1
Ty —
2 2

(¢) We know that

cos? 0+ cos? B +cos?2 =1
or 2cos? +1-3sin?0=1
or 2cos?0=3sin’0

3
or 200320:3-—300529:%56:;
@ Now, dy dy___>dy -2sin0 et

dc d0  dx  2cos®
dx
do
d%y e d%y 2. d0
g e & Voo e
. de(dx)dx:dxz g
_ Tsec 9=—lsec39
2cos O 2
%y 4
AtB=0=>—=-—
0 ) >

(¢) Since,x=¢e’*>
Differentiating w.r.t. x, we get

d
1=ex+y(1+;y) 21:“%

X

(¢) Domain for sin™ (1 —x) is [0, 2] and domain for
sin'xis[-1, 1].
So, Domain for x is [0, 1].

i T g
sm 1(1——x)‘max :—5, sin l(x)‘max =0

So, only possible condition is when x = 0.

22. (b) Graph of given curves
0,2

™.
Ll

Area of smaller region

1 1
=—x4n-—22 =(n— _uni
4 > (n—2) sq. units

03 e

- sin x|

2 3
= 4sin?x-3=0 :>s1n2x=2

; 3 b 2n
=osinx =t o Y= OF =
2 3 a2
24. (c) Let
1 1/3 i 1/3
o X s X
: Il/3 e o e oy

1 -2
Let —-1=t=—dx=dt

x x
1
fx=—=1¢=8
3
Ifx=1=t=0
8
A3 4/3
I, 11
So; I = J' dt = 2j0t dt‘ ayl
4 4
3183 _03 | —thgen UG
8 8
25. @ Given function f(x) = e!*!
e x20
fx)= -
e x<l
y=e" oy y=¢

e e el A e

So, f(x) is continuous.
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But RHDatx=0is 1.
LHDatx=0is—1.
So, f(x)isnot differentiable at x =0.
26. @ f(a)=1and £ (a) =3, which is not possible for any
function.

27. (d) For collinear points,
A -11

0 4 1|1=0_5 my+1(2)+1(-8)=0
y 4y

10
= 7A-10=0= 7»=7

; i3 : S

sin| 2m—2cot I- l=—sin{2cotp —

2. .0 ( s 12) ( 15)
Since, sin (21 —x) =—sinx

Let cot”li%:e: cot® =_5..

12
12
tan@ =—
= fan 5
24 ¢ 25
. 2tan0 5 % 190
sin20=—5—= B
lipn's ; 10 8
D51 2
29. Given, y =m sin rx +rcoS X
dy 5
: ;i;=m.r(cosrx)—nr(smrx)
d2y
= —5 =mr*[(-sin 7x) — nr? (cos 7x)]

30. (a) Given,the differential equation

cos X o +ysinx=1
e

d . g
v ytanx =Secx

tan x d; ¢
.So,LF.= ej mxds _ Jn(secr) o geciy
1

.. d*y i dy %
31. (c¢) Since, (-d;z—] 23 —_—2(_&;)

3¢ ! 3
| 5| 22 (_dlj
dx? dx

So, Order=2, Degree = 8

32. (@ Let I=7j,’-£%9-—x2dx

=17f G)z i

34.

35

36.

+c

— s i, —1——x2 +Lsin_1
2\49 98

=%\/1—49x2 +1—14-sin_1(7x)+c

@ Since, D, =J(-17 +(2-0) +3-0)*
:>Dx=\/m=\/l_§
Dszﬁ:TZ:m

Dz=m_=\/§

(@@ Given the planes
B dys e 10
P,:2x+ dy-2z=-2

Q==

Juis i L 12 _ G units
N2+ 4%+ 28 24

(@) Given the vectors

3o aitay) ko B = b +by ]+ bk

If angle between a and b is®

So, cos0 = -—?—'2_-

|alib]

and if @ is perpendicular to b then

Zig =f=> albl +a2b2 +a3b3 =0

and if 8 =7, then

Gxb=|dlb|sin®h =0

So, option (1) is-correct.

(¢) Given the vectors

peitj-2kandg=2+2]-k
Let d, _prg=3+2j-3k

A

dy=p-gG=i-k

T
Area of parallelogram = 5 |dyxd, |
i ]
Now, dyxd,=|3 2 =3 et 28 4 67120
-10 -1
= |dyxdy |={(-2)" +6” +2°

Area =%\/4+ 36+ 4 =+/11 sq. units
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37

38.

39.

40.

41.

®) Given, G+b+¢=0
Now, (G@+b+¢).(@+b+¢6)=0

= |d@|+|b|+|E|+2@.b+b.c+E.3)=0

(¢) Given,zhasmaxat (15, 15)and (0, 20).

S0, 215, 15)= Z(10,20)
= 15p+15¢=20g=q=3p

(@) Iz.fx\/x+2 dx

Letx+2=1 = dx=2tdt
I=[(@-2)t@)dr

4
=j(2t“ —4t2)dz=§t5 ne £t

5 3,
=%(x+2)2—§(x+2)2+c
@d Let
6R 4R 5R
4B’ 6B’ 5B

RE2EE R I (iee) BRI |

U-1U=2 U-3
E : Drawn marble isred
E, : Drawn marble from urn [
E, : Drawn marble from urn II
E, : Drawn marble from urn III

1
So, P(E)=P(E)=P(Ey= 3

So, by conditional probability
p[EL)_PENE)
E P(E)

E
P(E,)P (Fl

E,
6
e e
6 5SS
1071010 '
@ Given, P() =2 P(B)= 1 P(C) =1
3 4 5
So, required probability
13 49 g

2
P=—XZxX—+=X—X—+—X
34050 3 4503

_12+8+6 26 _13
Telel e 6D

31
_x_
45

E E E
P(E)P (35—1] + P(E,)P (__] + P(E;) (E

42.

43.

44.

45.

46.

47.

48.

(@ Given, P(A)z%;P(B)=%;P(C)=§
Required probability
P:lx—l—xi+-2—><l><l
3 4 5 345
g 9 3
60 60 20

1. 3npd
+—X=X=
3.4 3

@ Given, P(4) =§;P(B) =%;P(C)=§

So, required probability
2uibad D

=— X=X — = —

Sl ey oy
Y 1 1 1
(®) Given, P(4) = E;P(B) = Z; P(C)= =

So, required probability

Loy 1 Bl
T

(© Given, P(4) i
So, required probability

P=l—-2—x§xi=1—%=§
3.4 5 5.5

(a) Letlength and breadth of plot be x and y respectively.

Then, (x-50)(y+50)=xy . ..(0)
and, (x—10) (y—20) =xy—5300
From (i), 50x — 50y —2500 =0

= x—y=50 :

From (ii), —20x— 10y +200 =—5300 -
= 20x+ 10y=5500

= 2x+y=550

(¢) Letlength and breadth of plot be x and y respectively.

Then, (x—50) (y +50)=xy ...())

and (x—10) (y—20) =xy — 5300
From (i), 50x— 50y—2500 =0

= x—y=50

From (ii), — 20x— 10y +200 =—5300
= 20x+ 10y=5500

= 2x+y=550
x—y=50 ...(iii)
25ty =550 .{(1v)
Equation (iii) + (iv),

= 3x=600=>x=200

(d Letlength and breadth ofplot be x and y respectively.

Then, (x—50) (¥ +50)=xy ...(A)
and (x—10) (y—20) =xy —5300
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49.

From (i), 50x — 50y—2500=0

= x-pe50

From (i), —20x— 10y + 200 =-5300
= 20x+ 10y=>5500

= 2x+y=550
x—y=50 (i)
2x+y=550 (%)
Equation (iii) + (iv)

= 3x=600=x=200
x—y=50andx=200
theny=150m ;
®) Letlength and breadth of plot be x and y respectively.
Then, (x—50) (v + 50)=xy ()
and (x—10) (y —20)=xy - 5300 ...(iD)
From (i), 50x— 50y—2500 =0
= x-y=50
From (i), —20x— 10y +200 =—5300
= 20x+10y=>5500

= 2x+y=550
x—y=50" ...(111)
2 +y=550 ..(iv)

50.

Equation (iii) + (iv),
= 3x=600=>x=200
x=200,y=150

Pyt (2002 +(150)* _ 62500 _ s,
x=y 50 50

(@) Letlength and breadth of plot be x and y respectively.
Then, (x—50) (» +50)=xy @)
and (x—10) (y —20) =xy - 5300 ..(1)
From (i), 50x—50y—2500=0
= x-y=50
From (ii), —20x— 10y +200 =~ 5300
= 20x+10y=5500
= 2x+y=550
x—y=50
2x+y=550
Equation (iii) + (iv)
= 3x=600=>x=200
x=200,y=150
Area=x Xy
Area=200 x 150=30000 sq. m.

...(1i1)
..(1v)
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